K=2 K=3 K=4  K=5 K=6 K=7

17
Ln P(K|X) P(K|X) 1 |
1 -15469.94 1.00 11 {
2 -15570.16 0.00 {1 =

3 -15606.04 0.00
4  -15776.28 0.00
5  -15988.82 0.00
6  -16072.5 0.00
7 -16212.38 0.00
8  -16184.38 0.00
9  -16179.8 0.00
10 -16278.84 0.00
11 -16428.06 0.00

12 -16531.02 0.00 = : :
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Ln P(K|X) P(K|X) | B | =

1 -19354 0.00 8 = = |

2 -1265.74 0.00 = . : ;

3 -1077.74 0.00 - —

4 -1037.54 0.83 = ——

5  -1144.64 0.00 = B —_—

6  -1039.14 0.17 = |z i

7 108532 0.00 — ==

8  -1080.46 0.00 1 - :

9  -1098.98 0.00 = y

10 -1099.12 0.00 1 [ ]

11 -1130.38 0.00 - 8 g

12 -11246 0.00 ; e
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